HSC 2001 - Biology

Question 15
Question 15
15 Eight sick animals were found to be suffering from the same symptoms. Blood tests
showed that they were infected with the same type of bacterium.
Which of the following strategies would be the best to determine if this particular type of
bacterium is the cause of the disease?
(A) Find other animals with the same symptoms. Attempt to isolate the same type of
bacterium from their blood.
(B) Inject blood from animals with the symptoms into suitable host individuals. If they
develop the same symptoms, this proves that this type of bacterium caused the
disease.
(C) Use bacteria cultured from the blood of the animals with these symptoms to infect
suitable host individuals. If they develop the disease, attempt to isolate the same
type of bacterium from their blood.
(D) Treat all eight animals with an antibiotic known to kill this type of bacterium. They
will recover if this type of bacterium is the cause of the disease.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 9.1 55 3.1 1.1 0.5
B 20.9 24.5 11.8 2.6 1.1
C 36.4 51.4 76.3 95.2 98.4
D 33.6 18.4 8.7 1.1 0
N 0 0.3 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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